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2025-06-03 (Day 64)
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1 (fgArea = NA)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’,

"FVIEC
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-13

FfiE) | EBIAT (FD) | ERE (EA/4R) | BEREE(B/R) | XS R

07:15 306 150.0 2. 888 RS FhHA@O7:15 KEIEF (KAHEER)
08:05 306 150.0 2. 888 RS FmHAQO8:05 KENFEF (kA{EEIEE)
08:50 306 150.0 2.888 B5| FiHAe08:50 REIEF (KRFEERE)
09:50 306 150.0 2. 888 RS ThEA@O9:50 KENFEF (KAfEEEER)
10:40 306 150.0 2. 888 B FiHPe10:40 REIEF (REAERSE)
11:25 306 150.0 2.888 B FaHA@11:25 KENFEF (RAfEEEE)
12:10 306 150.0 2.888 Ag| FnHfe12:10 RHEEF (KREERES)
12:55 306 150.0 2. 888 RS FiHRe12:55 KREEF (GREAERSE)
13:40 306 150.0 2.888 RS ThHA@13:40 KENFEF (CGRAfEEEE)
14:25 306 150.0 2.888 BE| FiHFe14:25 REEF (REAEHE)
15:15 306 150.0 2. 888 RS FrHRe15:15 KREBF (GREAERSE)
16:15 306 150.0 2.888 R5| TiHAe16:15 KHIERF (RAEHS)
23t 3672.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.6

[E&EC 6530.0 K&, ZEiNFAKECAE&idEER
7 [ERECE (1860. 0 vs 6530.0) 145



FRV (ml plant-1)

ET (ml/hr/plant)

P3-13_0, Day=64 (2025-06-03)
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P3-13

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

08:05 288 150.0 2. 888 RS {Ri&e08:05 Fz (REERHE)
08:50 288 150.0 2.888 RS 1Ri&e08:50 Fzh (FEEEEE)
09:35 288 150.0 2.888 RS {Ri8@09:35 Fz (REAEHE)
10:20 288 150.0 2. 888 e Ri8@10:20 Fzn (REAEHSE)
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15:50 288 150.0 2.888 [Z=| 1Ri%e15:50 Fzh (REEESE)
16:50 288 150.0 2.888 |Z=| 1BRige16:50 Fzh (KAEESE)
29t 3456.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.7

MEREHLER 2 5 MEIEARTF (195.0
ZRIAEBRIERL144.0 ml.

[Bl&EC 7567.0 K5, #EiYF{KECAE&HikE R
HEEIHECE (1907.0 vs 7567.0) 5

144.0), FlEEHT—R % XA HS




P3-13_0, Day=63 (2025-06-02)
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54.51 —@— MW
54.0
53.5
53.0
52.5
52.0
965 970 975

m=625, FV0=0

—— MW
51 -
50 -
49 4
48 -
T T T
625 630 635
m=730,m FV0=0
—— MW
54.5
54.0
53.5 -
T T T
730 735 740
m=850,m FV0=0
54. 50 4 o= MW
54. 25 4
54. 00 -
53.75 -
53. 50 -
53. 25 1. | |
850 855 860
m=970,m FV0=0
54.6 R
54. 4
54.2
54.0
53.8 4

970 975 980




hour

:00

:05

:05

105

:0

:00 -

105 -

ol

100




P3-13

Ffig) | JEBIATHC (FD) | ERE (BH/) | BEREE(B/R) | XS EFE

10:00 288 150.0 2.888 |Z=| {Ri&e10:00 Bz (KREAEHSE)
12:05 288 150.0 2. 888 FA| {Ri&e12:05 Bzl (GRAEESE)
13:05 288 150.0 2.888 PH| {Ri%@13:05 Bz CGRAERSE)
14:05 288 150.0 2. 888 FB| {Ri&@14:05 B3 (FRAFERSE)
15:05 288 150.0 2.888 FA| {Ri&@15:05 Bzl (GkAEEE)
=it 1440.0 (5)%) 750.0 3ESHKEC: 2080.0, PH: 5.8

TERRHLER 2 STEEART (187.0 :

ZRIAEBRERLE138.0 ml.

[El&%EC 8683.0 K5, #iYF{KECAE&HikER
I [ERECE (2007. 0 vs 8683.0) 145

138.0), FAlEEHT—@ L XA S




P3-13_0, Day=62 (2025-06-01)
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P3-13

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF

06:50 283 150.0 2.888 FH| {Ri%@06:50 Bz (FRAHEESE)
07:50 283 150.0 2.888 FH| 1Bi&@07:50 Bah (RAEREE)
08:50 283 150.0 2. 888 FA| {RRi&@08:50 BHzh (kA{EEEE)
09:50 283 150.0 2.888 FA| {RRi&@09:50 Bz (kA{ERE)
10:50 283 150.0 2. 888 FB| {Ri&@10:50 B3 (FAFERSE)
11:50 283 150.0 2.888 FA| {Ri&e11:50 Bzl CGRAEEE)
13:40 283 150.0 2.888 | KM| {Ri%e13:40 Bz (KREAEZHE)
29t]1981.0 (70%) 1050. 0 32 HKEC: 2080.0, PH: 6.0

TERRHLER 2 STEEART (187.0 :

BRIASCRRERE138. 0 ml. B
[E/&REC 9155.0 K&, EINLFAKECAE & MtE R
HEEIHECE (2087.0 vs 9155.0) 45

138.0), FAlEEHT—@ L XA S




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=61 (2025-05-31)
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P3-13

RfiE) [ EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

06:40 283 150.0 2.888 FA| {Ri%@06:40 Bz (RAHEEEE)
07:25 283 150.0 2. 888 FA| 1Ri%@07:25 B (KAHERRSE
08:10 283 150.0 2.888 FA| 1BRi%@08:10 Bah (FkAfEREE)
09:00 283 150.0 2.888 FA| {RRi%@09:00 Bz (RPBHEEEE)
10:05 283 150.0 2.888 FA| 1Bi&@10:05 Bah (RAEREE)
10:50 283 150.0 2.888 FA| {Ri&@10:50 Bzl (GkAEEE)
11:30 283 150.0 2. 888 FA| {Ri&e@11:30 Bz (GRAEREE)
12:10 283 150.0 2.888 PR 1Bige12:10 Bzh (RAEREE)
12:50 283 150.0 2. 888 FA| 1BRi&@12:50 Bz (KAL)
13:30 283 150.0 2.888 FE| 1BRi%@13:30 Bz (kAERSE)
14:25 283 150.0 2. 888 FE| 1Ri%e14:25 Bz (kBERSE)
15:30 283 150.0 2.888 FA| {Ri&@15:30 Bzl (GkAEREE)
16:45 283 150.0 2.888 FE| 1BRi%@16:45 Bz (kAFERSE)
249t 3679.0 (13%) 1950. 0 ZHKEC: 2080.0, PH: 5.9

MERRNER S 5STREAERSE (184.0 : 136.0), AEEHF—RZ X445
LEOREBIRTC (283) 571H (312. 0) A, FEEH T X BRERS EXIER
ZRIASERRIERE136.0 ml.

[Bl&EC 8824.0 K&, #EiXF{KECAE&HikER

HEEIKECE (2220.0 vs 8824.0) U5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=60 (2025-05-30)
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